
General Aptitude: Numerical Ability

Preparation for CSIR NET | IIT JAM | GATE

Watch 
video to 
clear the 
concept

which of the following Last digits of perfect
7 - digit numbers cannot be swore are .

perfect squares .
0144,5

, 6,9. Only .

A . 45nyz26 Ca) only A other tacks_used.

B . Lily3175 (b ) only B

C Nys 3310
CC ) Oney ,

Oded G

(d) All three . #
5



Watch 
video to 
clear the 
concept

If NET 14 and NET 15 are
MET 14
NET 15

5 - digit numbers such that ¥9
their Sum 157229 And then

-

2NET = 1572

Nt EtT= ? NET = 786

(A) 15 NtEtT= 21

21

(C) 25

(D) 72



Watch 
video to 
clear the 
concept

NET are distinct tue integers NXEXT -_ 2013

sit . If NXEXT -_ 2013
= 671×3

O

which of the following us Max.
= 671×3×1
t

possible Sum of N, E.T N ¥ I

(A) 39
Nt EtT= 67g

(b) 671

(C) 2015

675



tf -- I and QtL= , Ptfe =/
what is pqR= ?

PQ -11=9

PQRTR -
- QR

- l
Q -11=1

(b) 2 R

QRtR=1
(C) - 2 QR = I - R

.

(d) Can not be Calculated PQRTR -
- I -R

.

POR = - I



Watch 
video to 
clear the 
concept

AXB -_ 24 13×6=32 CXD -
- 48 AXBXCXD

find AXD -
BXC

(a) Cannot be found .

24×48
Hb is a perfect square -32=36

6×6
⇐ s is a perfect Cube. -

(d) is odd
.



Watch 
video to 
clear the 
concept

which of the following is last digit of perfect
perfect square . Shure are

0
, 1,4, 5,6 , 9

(A) 2042122 No . before 6 is
×

always oddQb 1022121

XX ) 4083128

4yd ) 3063126



A. B. c are three distinct digits If they
are added as Below.

A B C find value of
+ A B C

A. B. c .

+ A B C

C C C

A =3 13=4 C= 5 KHA -
-

2 13=3 0=1

(by A -_ 5 13=1 C =3 ⑨ A -- I 13=8 Cz 5
.


